[

fim
%

CEEREL, BE/W=r+a—a b F@= [ fOdEHZ5. BEy=FW0)—f()0F 5T M HERRS
SRTZEDLDEEDD a DFEHFERD K,

EEOBMAHL TP 2 PELORE T 5, PO BEE(LO)E L, Py K&ty yo) & Pras O FE 4E
(Zp+1 yar)
Tp+1 =% —R(¥a T 3041
Va1 =9a + Rz, + x4541)
EBETETD, RELLEEOERET S,
M k=tan(-L) T2, £ELO<a<rETH, TOLE PP DI (xy, 1), (s, y2) & ¢ ERDTHE,
2) P, DEE(x, y)E()De & n ZANWTER.
3) 0%y FAOFSETSEE, AT P,OP,: OFHE b EHNTEE,

1D0%( I0% 3EBFS, |EECHZEE0 2EEIHBEES, 3ABIEEEE c 95, &8, H1a0R1
M5 6 ETOENEHETHSSDET S,
() 2KRHRE? — by +c = 0D &b | DEIMME S OWEERD X,
@ 2RFERax’ — bt + ¢ = 0 DFRTOMABRTHBHEERD X,
(3) 2RFER ar’ — b +c = 0 BDRL &b | DBEMRE bOWEERD X,

—_— M6 (805—166)



ZORFEIIME L EERIERSNEZDDTH B, EEERICSHE-T
FALTXW, ZORTERBFEER>TE N,

= % N

y= 1
. a2.b = Jab. a+g+f = Yabe, (a. b cWEEERIZ0)

2. (@ + 02+ (P +yP+ 20 = (ar + by + e2)?

= # B

B 8 oo &
B S SaB  smG = ok

4. a*=b"+¢*— 2bccos A

5. S=%bcsiﬂA=Js(s—aJ (s—b)(s—c), (s =-é—(a+b+c))

=’ & R

6. RESED 282, nEm:nicNATEE BIUITE S Mea T e may =

m+un m-—n
T Ry, y) EERax +by +c=0 EOERE BEES(xy, yu 20) EFMar +by +cz+d =0 & OIEEE :

lax, + by: + ¢l laxy + by + cz; + d|
Jat+pt Ja? +b% + ¢

2 2
8 KRz + 37 =1EORG, y)icsy o : 25 + 2 =

2 2
9. zmﬁ% — L= 1 L& (. y)ieB T BEE  BE XY

b* at b?
< 7 r W
10. 290RY h VDR :cosd =28
la| 5]
P—— 7 P

OM6(805—170)



11.
12.
13.

14.
15.

16.

b

18.
19.

20.

21.

22.

23.

24,

25.

# %

BRRFER z2=7r(cosd +ising), (r=lz|, 8 =argz)

21 =ri(cos 81 + isindi), zz=ry(cos b + isin ) ICH L, 2122 = rirs{cos (81 + 62) + isin(8, + 65))
F-EB77NORH :z2=r(cosd + isind) T L, 2" = r*(cos nd + isin nf)

(i L REDBR)

2+t g=00@Na, FDEE, a+B=—p, af =q
Pttt r=00@a, B yDEE, a+B+y=—p, af+Brtre=gq. afy=—vr

(xt 0
_ logs M
log. M = Toc,a
= & B B

sin(a + #) = sine cos 8 + cos e sin B

cos(a + B)=cosecos B — sinasin

tan(a + g) =

tan & + tan £
l —taneatan @

cos2a=1—2sin*e=2cos?e—1

sin @ cos f =1 [sin(a + )+ sin(e —;5')}

2

cos @ sin 8 =-é—{sin(zx + 8) — sin(e "8)}

cosacosf = —1—-{cns(a+ﬁ)+cos(a -;9)}

2

sin e sin & =——é—{cos(cz+,€)—cos(a—ﬁ)}

sinA + sin B = 2 sin

sinA — sin B = 2 cos

2

cos A + cos B = 2cos

cos A —cos B=— 2sin

A+ B

2
Ak AR

A+ B

2
A+B . A—B

2

A=H
2

cos

sin
2

A—B
2

cos

sin 9

b
asingd + bcos @ = Ja’ + b?sin(d + a), (smaz—“J——. c03a=“\/a—'—“—)

(3 1)

VEa BELd BE2OSEEFIOM: S, =

a* + b? a’ + b?

—é—n(aﬂ):—;—n{zw(n—l)d}. U=a+n—1)d)

S%a, By, W OBHEAOM : 5, = 2L ()

12+22+32+---+m3=—é——x[n+l)(2n+l)

13423+ 33+ o 498

{%‘*R(R + 1)}2

OMB (805—171)



26.

27.

28.

29.

30.

31.
32.
33.

34.

35.

36.

37.

38.

39.

40.

41.

42.

(8 fR)

Jim (141" = ¢ = 2. 71828

lim sinx =1
z—0 X

CHEE I

[Feen} =f (atg @

- dy _(dx)\~!
r=forsL=(4)

- d _ ¥
r=x(), y= y(t)GD):é‘dx P
(tanx)";—-—lg—*. (lclg;\c)'zL
Cos™ X X

x=g0EE [flg0)g Wat= [f)ax
[F@ewa=r@ew~ [y ae
£&@ .,

flogxdexlugx~x+C
a 8
V=5t = rata > 0), =t @0, [[G-aGa-pa=—-1@-o

BRIV =x [ (F0))

RO EX : f fl+ dy f .-'%x— %{—2 t, (x=x2(8), y=y(), a==x(a). b=x(8))

gz - #A4&4)
,.C,w——,..qC + -—1Cr--] (15?';?3_'1)

(at+b)"= EONC bt

(R %)
R p DEHA n EORFTH 7 EHEBHE : P, (1) = ,Cop7¢"", (g =1—p)

S ECO = 2 xipi, £EU pr ARERB X 2, & £ 5HET, 3 pi= 1 EBETET S,

— Sv— OMB(805—172)



